Year 2 0 Summer Block 4 0 Mass, Capacity and Temperature

Monday 15 ™ June:

Compare Mass




Starter

12 = 7

3 x 2=

92+ 1

10 + 40 + 20 =

63 - 10 - 10 =

Abdul has some toy cars.
He gives half of them to Ben.

He has four toy cars left.

How many toy cars did Abdul start with?

Miss Smith buys some bags of apples for her class.
She needs 30 apples altogether.

There are S apples in each bag.

How many bags of apples does Miss Smith need
altogether?



Introduction

Complete the sentences below:

)

(( ) The pumpkin weighs the
: | as the melon.

“ — The lemon weighs
| — than the apple.

| \ The sweetcorn weighs
i than the tomato.
' Word bank: more less same
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Introduction

Complete the sentences below:
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The pumpkin weighs the
same _ as the melon.

E
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The lemon weighs less
than the apple.

maore

The sweetcorn weighs

than the tomato.
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Varied Fluency 1

Draw lines to show which side of the F
balance the objects belong.
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Varied Fluency 1

Draw lines to show which side o
balance the objects belong.




